Guide ID: 21 - Draft: 2019-11-13

20. Mount Drag Chain Brackets

cron
20. Mount Drag Chain Brackets

Written By: Paul Cronje

—

» (=B
.-’< ng
2 5

LS = Mojj;

2
3 % owoy A
Tl
m‘allmumg 10y

Page 1 of 3

This document was generated on 2021-12-22 04:54:44 PM (MST).
cron.dozuki.com/

© 2021



20. Mount Drag Chain Brackets Guide ID: 21 - Draft: 2019-11-13

Step 1 — Parts Required

(@) This section is NOT required for the
Small version. The Small version will
not make use of the Y-Axis drag
chains.

e Y-Drag Chain Bracket Left

Y-Drag Chain Bracket Right

— M4 Nut (2 Pcs)

e
| |
| e — @ M4x20 Cap Screw (2 Pcs)

Step 2 — Tools Required

e 3mm Allen Key

e Pratley Pratlock

This document was generated on 2021-12-22 04:54:44 PM (MST).
© 2021 cron.dozuki.com/ Page 2 of 3



20. Mount Drag Chain Brackets Guide ID: 21 - Draft: 2019-11-13

Step 3 — Prepare the Drag Chain Brackets

o Slide the M4 Nuts (2 Pcs) into the
slots provided in the Printed Parts

Step 4 — Mount the Drag Chain Brackets

e Mount the Drag Chain brackets to the Electronics board with the M4x20 cap screws (2 Pcs) and
the Pratley Pratlock

o The lip of the printed part will stick over the edge of the board to keep it from rotating

This document was generated on 2021-12-22 04:54:44 PM (MST).
© 2021 cron.dozuki.com/ Page 3 of 3



	20. Mount Drag Chain Brackets
	Written By: Paul Cronje
	Step 1 — Parts Required
	Step 2 — Tools Required
	Step 3 — Prepare the Drag Chain Brackets
	Step 4 — Mount the Drag Chain Brackets


